X AY 3z }\ —_ 3
3 111&#F<F >RBpERE ==> R 3
AYA
#1: 9 BEA(54.15) #2: 1 %‘%(41 04) #3 8 A M%ﬁ T7(38.42)
1 NS: =008 REERGHO) -5 13 NS: 15 R5E Bt Mm(BAC) -6 P:| 10.00 : 10.00 | Total VP: 41.04 Rank:
EW: E1E¥ SE%(EAC) 6 EW: Rl %R K(BO) 5 IMP:| 17 17 2
— I I
# 21 a8 5CE-1 50 Mean: 4HW-2 100 9.0 1 [[|# 22 s JT97 2HE-1 100 Mean: 2HXE-2 500 9.0 1
v JT63 3NW4 -430 -270 5CE-1 50 80 2 v38 2HW-1100 110  2HXE-1 200 3.0 1
¢ 8532 Dif: 480 NS:8 2CE-1 50 80 1 ¢ J842 Dif: 0 NS:0 2NS3 150 1.0 1
& AB75 IMP: 10 EW:4 3HW3 140 40 1 & AK87 IMP: 0 EW:0 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ *» 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 3CXE-1200 Mean: 3CXE-1 200 30 1 ||# 24 » J6 4SW-1 50 Mean: 4SW-1 50 40 1
v AKQ92 1NN3 150 100  2SW-2 200 30 1 v Q52 3SW4 -170 -110  3NE-1 50 40 1
¢ 543 Dif: 50 NS:3 3HN4 170 2.0 1 ¢ A93 Dif: 220 NS:4 2SW-1 50 40 1
& A6 IMP: 2 EW:-2 2HN4 170 2.0 1 & QJ862 IMP: 6 EW:2 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
85 + v T64 INN3 150 20 2 ||e K76 v AJTO 28W2 10 00 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 COP: -24 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~332 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 43 3HN5 200 Mean: 4HXN4 500 50 1 ||# 26 a9 4SE5 -650 Mean: 4SE-1 100 110 3
v AK9852 4HN5 450 390 4HN5 450 2.0 10 v J73 4SE4 -620 490 A 00 6
o JT Dif: -250 NS:-5 4HN4 420 1.0 1 ¢ K983 Dif: -30 NS:-4 4SE5 650 -40 4
» K865 IMP: -6 EW:2 A 00 6 » AJBB3 IMP: -1 EW:4 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 «JT7 N ~~~~ ~ v KT8
S ~25~1 ¢K5432 S ~~~~~ o T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 aT 4SE4 -420 Mean: 6NE-6 300 100 1 ||# 28 a8 3NE3 -400 Mean: 4HW-3 150 50 3
v Q7 4HWS5 -450 -190  6HW-1 50 60 6 v AJ874 4SW-150 -50  3NXW-1 100 40 1
* T987432 Dif: 30 NS:-6 3HE4 470 1.0 1 ¢ QT975 Dif: -450 NS:-8 3NW-2 100 40 1
& AT7 IMP: 1 EW:6 A 00 6 & 97 IMP: -10 EW:-3 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 + KQ 4SE5 450 60 1 ||e AK + 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
* eV AN ,QJ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ b 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 4 643 3CS3 110 Mean: 3NS3 600 11.0 2 ||# 30 473 2CW-1 50 Mean: 3NW-3 150 50 1
v T7 3HW-1100 100  2NS3 150 2.0 1 v 74 3CW-150 -40  3NE-3 150 50 1
* Q92 Dif: 10 NS:0 2Cs4 130 1.0 1 ¢ A732 Dif: 0 NS:3 3CW-3 150 50 1
& AKJT6 IMP: 0 EW:0 A 00 6 & QJ732 IMP: 0 EW:-3 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT » Q984 3NE-2 100 40 1
v A8653 v 942 3CS3 110 00 4 |[|v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2cs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2




X AY 3z }\ —_ 3
3 111&#F<F >RBpERE ==> R 3
AYA
#1: 9 BEA(54.15) #2: 1 %‘%(41 04) #3 8 A Ju\%ﬁ T7(38.42)
2 NS: 22T EHRZGEO) -4 8 NS: 2R REE(BAC) 3 P:| 6.86 : 13.14| Total VP: 31.10 Rank:
EW: == B2 fEEAC) -3 EW: [REZ MTH(BAO) 4 IMP:| 5 14 8
e —————
# 21 a8 2SXS-2 -500 Mean: 4HW-2 100 9.0 1 [[|# 22 s JT97 2SN-1-50 Mean: 2HXE-2 500 9.0 1
v JT63 3NW4 -430 -270 5CE-1 50 80 2 v38 2HE-1100 110  2HXE-1 200 3.0 1
¢ 8532 Dif: -70 NS:-6 2CE-1 50 80 1 ¢ J842 Dif: -150 NS:-4 2NS3 150 1.0 1
& AB75 IMP: -2 EW:4 3HW3 140 40 1 & AK87 IMP: -4 EW:0 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 -6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 1NN3 150 Mean: 3CXE-1 200 30 1 ||# 24 » J6 3SW3 -140 Mean: 4SW-1 50 40 1
v AKQ92 3HN3 140 100  2SW-2 200 30 1 v Q52 3NE-150 -110 3NE-1 50 40 1
¢ 543 Dif: 10 NS:2 3HN4 170 2.0 1 ¢ A93 Dif: -190 NS:-1  2SW-1 50 40 1
& A6 IMP: 0 EW:-1  2HN4 170 2.0 1 & QJ862 IMP: -5 EW:-4 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
85 + v T64 INN3 150 20 2 ||e K76 v AJTO 28W2 10 00 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~3 32 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 43 4HN5 450 Mean: 4HXN4 500 50 1 ||# 26 a9 4SE4 -620 Mean: 4SE-1 100 110 3
v AK9852 4HN5 450 390  4HN5 450 2.0 10 v J73 4SE5-650 -490 A 00 6
o JT Dif: 0 NS:2 4HN4 420 1.0 1 ¢ K983 Dif: 30 NS:-4 4SE5 650 -40 4
» K865 IMP: 0 EW:2 A 00 6 » AJBB3 IMP: 1 EW:4 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 «JT7 N ~~~~ ~ v KT8
S ~25~1 ¢K5432 S ~~~~~ o T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 aT 6HW-1 50 Mean: 6NE-6 300 100 1 ||# 28 a8 4CE-150 Mean: 4HW-3 150 50 3
v Q7 6HW-150 -190 6HW-1 50 60 6 v AJ874 4HW-3 150 -50  3NXW-1 100 40 1
* T987432 Dif: 0 NS:6 3HE4 470 1.0 1 ¢ QT975 Dif: -100 NS:3 3NW-2 100 40 1
& AT7 IMP: 0 EW:-6 A 00 6 & 97 IMP: -3 EW:-5 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 * KQ 4SE5 450 60 1 ||e AK ¢ 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
* eV AN ,QJ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ 5 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 4 643 3NS-1-100 Mean: 3NS3 600 11.0 2 ||# 30 473 2CW-150 Mean: 3NW-3 150 50 1
v T7 3CS-1-100 100 2NS3 150 2.0 1 v 74 2HE2 -110 40  3NE-3 150 50 1
* Q92 Dif: 0 NS:-5 2CS4 130 1.0 1 ¢ A732 Dif: 160 NS:3 3CW-3 150 50 1
& AKJT6 IMP: 0 EW:5 A 00 6 & QJ732 IMP: 4 EW:2 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT & Q984 3NE-2 100 40 1
v A8653 v 942 3Cs3 110 00 4 |[|v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2cs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4 AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2




X AY 3z }\ —_ 3
3 111&#F<F >RBpERE ==> R 3
AYA
#1: 9 BEA(54.15) #2: 1 %‘%(41 04) #3 8 A M%ﬁ T7(38.42)
3 NS: 822 FEEE0) 12 7 NS: BRE%E EIIHI(EAC) 12 P:| 11.50 : 8.50 | Total VP: 32.28 Rank:
EW: E$553 8FEREEAC) -12 EW: EHE 151E (B0) -1 IMP:| 38 34 7
— e —————
# 21 a8 3CE4 -130 Mean: 4HW-2 100 9.0 1 [[|# 22 s JT97 2NS3 150 Mean: 2HXE-2 500 9.0 1
v JT63 3NW4 -430 -270 5CE-1 50 80 2 v38 3CS3110 110  2HXE-1 200 3.0 1
¢ 8532 Dif: 300 NS:4 2CE-1 50 80 1 ¢ J842 Dif: 40 NS:1 2NS3 150 1.0 1
& AB75 IMP: 7 EW:4 3HW3 140 40 1 & AK87 IMP:1 EW:0 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 -6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 2HN3 140 Mean: 3CXE-1 200 30 1 ||# 24 » J6 2SW2 -110 Mean: 4SW-1 50 40 1
v AKQ92 2SW-2200 100  2SW-2 200 30 1 v Q52 3SW4 -170 -110  3NE-1 50 40 1
¢ 543 Dif: -60 NS:1  3HN4 170 2.0 1 ¢ A93 Dif: 60 NS:0 2SW-1 50 40 1
& A6 IMP: -2 EW:-3 2HN4 170 2.0 1 & QJ862 IMP: 2 EW:2 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
85 + v T64 INN3 150 20 2 ||e K76 v AJTO 28W2 10 00 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~3 32 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 43 3HN5 200 Mean: 4HXN4 500 50 1 ||# 26 a9 4SE-1 100 Mean: 4SE-1 100 110 3
v AK9852 4HXN4 590 390  4HN5 450 2.0 10 v J73 4SE4 -620 490 A 00 6
o JT Dif: -390 NS:-5 4HN4 420 1.0 1 ¢ K983 Dif: 720 NS:11 4SE5 650 -40 4
» K865 IMP: -9 EW:5 A 00 6 » AJBB3 IMP: 12 EW:4 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 JT7 N ~~~~~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 aT 6NE-6 300 Mean: 6NE-6 300 100 1 ||# 28 a8 3NE3 -400 Mean: 4HW-3 150 50 3
v Q7 6HW-150 -190 6HW-1 50 60 6 v AJ874 4HW-3 150 -50  3NXW-1 100 40 1
* T987432 Dif: 250 NS:10 3HE4 470 1.0 1 ¢ QT975 Dif: -550 NS:-8 3NW-2 100 40 1
& AT7 IMP: 6 EW:-6 A 00 6 & 97 IMP: -11 EW:-5 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 * KQ 4SE5 450 60 1 ||e AK ¢ 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
* eV AN ,QJ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ 5 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 4 643 3NS-1-100 Mean: 3NS3 600 11.0 2 ||# 30 473 3NW-1 50 Mean: 3NW-3 150 50 1
v T7 3NS3 600 100 2NS3 150 2.0 1 v 74 3NE3 -400 -40  3NE-3 150 50 1
* Q92 Dif: -700 NS:-5 2CS4 130 1.0 1 ¢ A732 Dif: 450 NS:3 3CW-3 150 50 1
& AKJT6 IMP: -12 EW:-11 A 00 6 & QJ732 IMP: 10 EW:8 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT & Q984 3NE-2 100 40 1
v A8653 v 942 3Cs3 110 00 4 |[|v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2cs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2




X AY 3z }\ —_ 3
3 111&#F<F >RBpERE ==> R 3
AYA
#1: 9 BEA(54.15) #2: 1 %‘%(41 04) #3 8 A Ju\%ﬁ T7(38.42)
4 NS: BREE JAEHEEO) -30 15 NS: 5% {E HEEEAC) -12 P:| 495 : 15.05| Total VP: 25.07 Rank:
EW: BE2EZ2 BRZE0MEAC) 12 EW: SRR EEE(BO) 30 IMP:| 1 17 18
I I
# 21 a8 3NW4 -430 Mean: 4HW-2 100 9.0 1 [[|# 22 s JT97 2HE-1 100 Mean: 2HXE-2 500 9.0 1
v JT63 3NW4 -430 -270 5CE-1 50 80 2 v38 3CS3110 110  2HXE-1 200 3.0 1
¢ 8532 Dif: 0 NS:-4 2CE-1 50 80 1 ¢ J842 Dif: -10 NS:0 2NS3 150 1.0 1
& AB75 IMP: 0 EW:4 3HW3 140 40 1 & AK87 IMP: 0 EW:0 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 -6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 3CW3 -110 Mean: 3CXE-1 200 30 1 ||# 24 » J6 3SW3 -140 Mean: 4SW-1 50 40 1
v AKQ92 2HN3 140 100  2SW-2 200 30 1 v Q52 3SW4 -170 -110  3NE-1 50 40 1
¢ 543 Dif: -250 NS:-5 3HN4 170 2.0 1 ¢ A93 Dif: 30 NS:-1  2SW-1 50 40 1
& A6 IMP: -6 EW:-1 2HN4 170 2.0 1 & QJ862 IMP: 1 EW:2 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
85 + v T64 INN3 150 20 2 ||e K76 v AJTO 28W2 10 00 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~3 32 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 43 4HN5 450 Mean: 4HXN4 500 50 1 ||# 26 a9 4SE4 -620 Mean: 4SE-1 100 110 3
v AK9852 4HN5 450 390  4HN5 450 2.0 10 v J73 4SE4 -620 490 A 00 6
o JT Dif: 0 NS:2 4HN4 420 1.0 1 ¢ K983 Dif: 0 NS:-4 4SE5 650 -40 4
» K865 IMP: 0 EW:2 A 00 6 » AJBB3 IMP: 0 EW:4 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 «JT7 N ~~~~ ~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 »Q9542
W o~ ~~2~ ~~242
# 27 aT 4SE5 -450 Mean: 6NE-6 300 100 1 ||# 28 a8 3NS-2-200 Mean: 4HW-3 150 50 3
v Q7 4HWS5 -450 -190  6HW-1 50 60 6 v AJ874 2HN-2 -200 -50  3NXW-1 100 40 1
* T987432 Dif: 0 NS:-6 3HE4 470 1.0 1 ¢ QT975 Dif: 0 NS:-4 3NW-2 100 40 1
& AT7 IMP: 0 EW:6 A 00 6 & 97 IMP: 0 EW:4 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 * KQ 4SE5 450 60 1 ||e AK ¢ 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
* eV AN ,QJ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ 5 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 4 643 3HW-1 100 Mean: 3NS3 600 11.0 2 ||# 30 473 3NE3 -400 Mean: 3NW-3 150 50 1
v T7 3CS3110 100  2NS3 150 2.0 1 v 74 3NE-3150 -40  3NE-3 150 50 1
* Q92 Dif: 10 NS:0 2CS4 130 1.0 1 ¢ A732 Dif: -550 NS:-8 3CW-3 150 50 1
& AKJT6 IMP: 0 EW:0 A 00 6 & QJ732 IMP: -11 EW:-5 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT & Q984 3NE-2 100 40 1
v A8653 v 942 3Cs3 110 00 4 |[|v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2cs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4 AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQJ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2




X AY 3z }\ —_ 3
3 111&#F<F >RBpERE ==> R 3
AYA
#1: 9 BEA(54.15) #2: 1 %‘%(41 04) #3 8 A Ju\%jj T7(38.42)
5 NS: BB REEEHO) 12 14 NS: HiRIE Z=52(BAC) 20 P:| 6.86 : 13.14| Total VP: 22.66 Rank:
EW: FER SmE=EEIC) -20 EW: [Rigi % E#&1E(BRO) -1 IMP:| 19 21
I I
# 21 a8 4HW4 -420 Mean: 4HW-2 100 9.0 1 [[|# 22 s JT97 2HXE-1 200 Mean: 2HXE-2 500 9.0 1
v JT63 5CE-150 -270 5CE-1 50 80 2 v38 2HXE-2 500 110  2HXE-1 200 3.0 1
¢ 8532 Dif: -470 NS:-4 2CE-1 50 80 1 ¢ J842 Dif: -300 NS:3 2NS3 150 1.0 1
& AB75 IMP: -10 EW:-8 3HWS3 140 40 1 & AK87 IMP: -7 EW:9 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 -6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 3HN4 170 Mean: 3CXE-1 200 30 1 ||# 24 » J6 1NE1 -90 Mean: 4SW-1 50 40 1
v AKQ92 3HN3 140 100  2SW-2 200 30 1 v Q52 1NE2 -120 -110  3NE-1 50 40 1
¢ 543 Dif: 30 NS:2 3HN4 170 2.0 1 ¢ A93 Dif: 30 NS:1  2SW-1 50 40 1
& A6 IMP: 1 EW:-1 2HN4 170 2.0 1 & QJ862 IMP:1 EW:0 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
85 + v T64 INN3 150 20 2 ||e K76 v AJTO 28W2 10 00 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~3 32 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 43 4HN5 450 Mean: 4HXN4 500 50 1 ||# 26 a9 4SE-1 100 Mean: 4SE-1 100 110 3
v AK9852 4HN5 450 390  4HN5 450 2.0 10 v J73 4SE4 -620 490 A 00 6
o JT Dif: 0 NS:2 4HN4 420 1.0 1 ¢ K983 Dif: 720 NS:11 4SE5 650 -40 4
» K865 IMP: 0 EW:2 A 00 6 » AJBB3 IMP: 12 EW:4 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 JT7 N ~~~~~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 aT 4HWS5 -450 Mean: 6NE-6 300 100 1 ||# 28 a8 3NXW-1100 Mean: 4HW-3 150 50 3
v Q7 6HW-150 -190  6HW-1 50 60 6 v AJ874 1SW1-80 -50  3NXW-1 100 40 1
* T987432 Dif: -500 NS:-6 3HE4 470 1.0 1 ¢ QT975 Dif: 180 NS:4 3NW-2 100 40 1
& AT7 IMP: -11 EW:-6 A 00 6 & 97 IMP: 5 EW:1 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 * KQ 4SE5 450 60 1 ||e AK ¢ 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
* eV AN ,QJ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ 5 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 4 643 3NS-1-100 Mean: 3NS3 600 11.0 2 ||# 30 473 3NE-2 100 Mean: 3NW-3 150 50 1
v T7 3NS-1-100 100  2NS3 150 2.0 1 v 74 3NW-2 100 -40  3NE-3 150 50 1
* Q92 Dif: 0 NS:-5 2CS4 130 1.0 1 ¢ A732 Dif: 0 NS:4 3CW-3 150 50 1
& AKJT6 IMP: 0 EW:5 A 00 6 & QJ732 IMP: 0 EW:-4 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT & Q984 3NE-2 100 40 1
v A8653 v 942 3Cs3 110 00 4 |[|v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2cs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2




X AY 3z }\ —_ 3
3 111&#F<F >RBpERE ==> R 3
AYA
#1: 9 BEA(54.15) #2: 1 %‘%(41 04) #3 8 A Ju\%ﬁ T7(38.42)
6 NS: #EfEER EEREHO) -4 12 NS: Ei==f7 STRI(EIC) 3 P:| 7.82 : 12.18| Total VP: 23.91 Rank:
EW: BEEEE BrESC(BAC) -3 EW: 2ZF W& (BO) 4 IMP:| 18 19
I I
# 21 a8 3NW4 -430 Mean: 4HW-2 100 9.0 1 [[|# 22 s JT97 2HE-1 100 Mean: 2HXE-2 500 9.0 1
v JT63 4HW-2 100 -270 5CE-1 50 80 2 v38 2HE-1100 110  2HXE-1 200 3.0 1
¢ 8532 Dif: -530 NS:-4 2CE-1 50 80 1 ¢ J842 Dif: 0 NS:0 2NS3 150 1.0 1
& AB75 IMP: -11 EW:-9 3HWS3 140 40 1 & AK87 IMP: 0 EW:0 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 1NN4 180 Mean: 3CXE-1 200 30 1 ||# 24 » J6 1NE3 -150 Mean: 4SW-1 50 40 1
v AKQ92 3CE3-110 100  2SW-2 200 30 1 v Q52 1NE4 -180 -110  3NE-1 50 40 1
¢ 543 Dif: 290 NS:2 3HN4 170 2.0 1 ¢ A93 Dif: 30 NS:-1  2SW-1 50 40 1
& A6 IMP: 7 EW:5 2HN4 170 2.0 1 & QJ862 IMP: 1 EW:2 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
85 + v T64 INN3 150 20 2 ||e K76 v AJTO 28W2 10 00 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~332 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 43 4HN5 450 Mean: 4HXN4 500 50 1 ||# 26 a9 4SE4 -620 Mean: 4SE-1 100 110 3
v AK9852 4HN5 450 390  4HN5 450 2.0 10 v J73 4SE4 -620 490 A 00 6
o JT Dif: 0 NS:2 4HN4 420 1.0 1 ¢ K983 Dif: 0 NS:-4 4SE5 650 -40 4
» K865 IMP: 0 EW:2 A 00 6 » AJBB3 IMP: 0 EW:4 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 JT7 N ~~~~~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 aT 5SE5 -450 Mean: 6NE-6 300 100 1 ||# 28 a8 3NE-2 100 Mean: 4HW-3 150 50 3
v Q7 6HW-150 -190  6HW-1 50 60 6 v AJ874 4HW-3 150 -50  3NXW-1 100 40 1
* T987432 Dif: -500 NS:-6 3HE4 470 1.0 1 ¢ QT975 Dif: -50 NS:4 3NW-2 100 40 1
& AT7 IMP: -11 EW:-6 A 00 6 & 97 IMP: -2 EW:-5 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 + KQ 4SE5 450 60 1 ||e AK + 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
* eV AN ,QJ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ b 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 4 643 2CS3 110 Mean: 3NS3 600 11.0 2 ||# 30 473 3NW-1 50 Mean: 3NW-3 150 50 1
v T7 3CS3110 100  2NS3 150 2.0 1 v 74 3NE3 -400 -40  3NE-3 150 50 1
* Q92 Dif: 0 NS:0 2Cs4 130 1.0 1 ¢ A732 Dif: 450 NS:3 3CW-3 150 50 1
& AKJT6 IMP: 0 EW:0 A 00 6 & QJ732 IMP: 10 EW:8 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT » Q984 3NE-2 100 40 1
v A8653 v 942 3CS3 110 00 4 |[|v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2CSs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2




X AY 3z }\ —_ 3
3 111&#F<F >RBpERE ==> R 3
AYA
#1: 9 BEA(54.15) #2: 1 %‘%(41 04) #3 8 A Ju\%ﬁ T7(38.42)
7 NS: BEZ72 SEILEIEAC) 12 3 NS: i&£F %5 HEA(FO0) 12 8.50 : 11.50| Total VP: 27.82 Rank:
EW: HEE BHKEEI0) -12 EW: Eifi BRHEEAC) 1 IMP:| 34 16
— e —————
# 21 a8 3CE4 130 Mean: 4HW-2 100 9.0 1 [[|# 22 s JT97 2NS3 -150 Mean: 2HXE-2 500 9.0 1
v JT63 3NW4 430 -270 5CE-1 50 80 2 v38 3CS3-110 110  2HXE-1 200 3.0 1
¢ 8532 Dif: -300 NS:-4 2CE-1 50 80 1 ¢ J842 Dif: -40 NS:0 2NS3 150 1.0 1
& AB75 IMP: -7 EW:-4 3HW3 140 40 1 & AK87 IMP: -1 EW:-1 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 -6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 2HN3 -140 Mean: 3CXE-1 200 30 1 ||# 24 » J6 2SW2 110 Mean: 4SW-1 50 40 1
v AKQ92 2SW-2 -200 100  2SW-2 200 30 1 v Q52 3SW4 170 -110  3NE-1 50 40 1
¢ 543 Dif: 60 NS:3 3HN4 170 2.0 1 ¢ A93 Dif: -60 NS:-2 2SW-1 50 40 1
& A6 IMP: 2 EW:-1  2HN4 170 2.0 1 & QJ862 IMP: -2 EW:0 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
85 + v T64 INN3 150 20 2 ||e K76 v AJTO 28W2 10 00 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~3 32 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 43 3HN5 -200 Mean: 4HXN4 500 50 1 ||# 26 a9 4SE-1 -100 Mean: 4SE-1 100 110 3
v AK9852 4HXN4 -590 390  4HN5 450 2.0 10 v J73 4SE4 620 -490 A 00 6
o JT Dif: 390 NS:5 4HN4 420 1.0 1 ¢ K983 Dif: -720 NS:-4 4SE5 650 -40 4
» K865 IMP:9 EW:5 A 00 6 » AJBB3 IMP: -12 EW:-11 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 «JT7 N ~~~~ ~ v KT8
S ~25~1 ¢K5432 S ~~~~~ o T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 aT 6NE-6 -300 Mean: 6NE-6 300 100 1 ||# 28 a8 3NE3 400 Mean: 4HW-3 150 50 3
v Q7 6HW-1-50 -190  6HW-1 50 60 6 v AJ874 4HW-3 -150 -50  3NXW-1 100 40 1
* T987432 Dif: -250 NS:6 3HE4 470 1.0 1 ¢ QT975 Dif: 550 NS:5 3NW-2 100 40 1
& AT7 IMP: -6 EW:-10 A 00 6 & 97 IMP: 11 EW:8 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 * KQ 4SE5 450 60 1 ||e AK ¢ 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
* eV AN ,QJ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ 5 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 4 643 3NS-1 100 Mean: 3NS3 600 11.0 2 ||# 30 473 3NW-1 -50 Mean: 3NW-3 150 50 1
v T7 3NS3-600 100  2NS3 150 2.0 1 v 74 3NE3 400 -40  3NE-3 150 50 1
* Q92 Dif: 700 NS:11 2CS4 130 1.0 1 ¢ A732 Dif: -450 NS:-8 3CW-3 150 50 1
& AKJT6 IMP: 12 EW:5 A 00 6 & QJ732 IMP: -10 EW:-3 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT & Q984 3NE-2 100 40 1
v A8653 v 942 3Cs3 110 00 4 |[|v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2cs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4 AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2




X AY 3z }\ —_ 3
3 111&#F<F >RBpERE ==> R 3
AYA
#1: 9 BEA(54.15) #2: 1 %‘%(41 04) #3 8 A Ju\%ﬁ T7(38.42)
8 NS: FisE KRB EIC) 3 2 NS: Rt Z=HRZ(B0) -4 P:| 13.14 : 6.86 Total VP: 38.42 Rank:
EW: BEE 2 MTHEEE0) 4 EW: 1518 #3E(BAC) -3 IMP:| 14 5 3
e —————
# 21 a8 2SXS-2 500 Mean: 4HW-2 100 9.0 1 [[|# 22 s JT97 2SN-1 50 Mean: 2HXE-2 500 9.0 1
v JT63 3NW4 430 -270 5CE-1 50 80 2 v38 2HE-1-100 110  2HXE-1 200 3.0 1
¢ 8532 Dif: 70 NS:-4 2CE-1 50 80 1 ¢ J842 Dif: 150 NS:0 2NS3 150 1.0 1
& AB75 IMP: 2 EW:6 3HW3 140 40 1 & AK87 IMP: 4 EW:4 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 -6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 1NN3 -150 Mean: 3CXE-1 200 30 1 ||# 24 » J6 3SW3 140 Mean: 4SW-1 50 40 1
v AKQ92 3HN3 -140 100  2SW-2 200 30 1 v Q52 3NE-1-50 -110  3NE-1 50 40 1
¢ 543 Dif: 10 NS:1  3HN4 170 2.0 1 ¢ A93 Dif: 190 NS:4 2SW-1 50 40 1
& A6 IMP: 0 EW:-2 2HN4 170 2.0 1 & QJ862 IMP: 5 EW:1 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
85 + v T64 INN3 150 20 2 ||e K76 v AJTO 28W2 10 00 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~3 32 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 43 4HN5 -450 Mean: 4HXN4 500 50 1 ||# 26 a9 4SE4 620 Mean: 4SE-1 100 110 3
v AK9852 4HN5 -450 390  4HN5 450 2.0 10 v J73 4SE5650 -490 A 00 6
o JT Dif: 0 NS:2 4HN4 420 1.0 1 ¢ K983 Dif: -30 NS:-4 4SE5 650 -40 4
» K865 IMP: 0 EW:2 A 00 6 » AJBB3 IMP: -1 EW:4 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 «JT7 N ~~~~ ~ v KT8
S ~25~1 ¢K5432 S ~~~~~ o T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 aT 6HW-1 -50 Mean: 6NE-6 300 100 1 ||# 28 a8 4CE-1-50 Mean: 4HW-3 150 50 3
v Q7 6HW-1-50 -190  6HW-1 50 60 6 v AJ874 4HW-3 -150 -50  3NXW-1 100 40 1
* T987432 Dif: 0 NS:6 3HE4 470 1.0 1 ¢ QT975 Dif: 100 NS:5 3NW-2 100 40 1
& AT7 IMP: 0 EW:-6 A 00 6 & 97 IMP: 3 EW:-3 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 * KQ 4SE5 450 60 1 ||e AK ¢ 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
* eV AN ,QJ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ 5 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 4 643 3NS-1 100 Mean: 3NS3 600 11.0 2 ||# 30 473 2CW-1-50 Mean: 3NW-3 150 50 1
v T7 3CS-1100 100  2NS3 150 2.0 1 v 74 2HE2110 -40  3NE-3 150 50 1
* Q92 Dif: 0 NS:-5 2CS4 130 1.0 1 ¢ A732 Dif: -160 NS:-2 3CW-3 150 50 1
& AKJT6 IMP: 0 EW:5 A 00 6 & QJ732 IMP: -4 EW:-3 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT & Q984 3NE-2 100 40 1
v A8653 v 942 3Cs3 110 00 4 |[|v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2cs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4 AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2




X AY 3z }\ —_ 3
3 111&#F<F >RBpERE ==> R 3
AYA
#1: 9 BEA(54.15) #2: 1 %‘%(41 04) #3 8 A Ju\%ﬁ T7(38.42)
9 NS: f3EE HFEBGHO) 2 16 NS: BRig:& BB (BAC) -16 P:[ 15.05 : 4.95 | Total VP: 54.15 Rank:
EW: ZEREIR SRE/KEAC) 16 EW: S8E3R MEHE(BIO) -2 IMP:| 30 14 1
- e —————
# 21 a8 3HW3 -140 Mean: 4HW-2 100 9.0 1 [[|# 22 s JT97 3SN-1-50 Mean: 2HXE-2 500 9.0 1
v JT63 3NW4 -430 -270 5CE-1 50 80 2 v38 2HE-1100 110  2HXE-1 200 3.0 1
¢ 8532 Dif: 290 NS:4 2CE-1 50 80 1 ¢ J842 Dif: -150 NS:-4 2NS3 150 1.0 1
& AB75 IMP: 7 EW:4 3HW3 140 40 1 & AK87 IMP: -4 EW:0 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 2HN3 140 Mean: 3CXE-1 200 30 1 ||# 24 » J6 2SW2 -110 Mean: 4SW-1 50 40 1
v AKQ92 2HN2 110 100  2SW-2 200 30 1 v Q52 2NE5 -210 -110  3NE-1 50 40 1
¢ 543 Dif: 30 NS:1  3HN4 170 2.0 1 ¢ A93 Dif: 100 NS:0 2SW-1 50 40 1
& A6 IMP:1 EW:0 2HN4 170 2.0 1 & QJ862 IMP: 3 EW:3 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
85 + v T64 INN3 150 20 2 ||e K76 v AJTO 28W2 10 00 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~3 32 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 43 4HN5 450 Mean: 4HXN4 500 50 1 ||# 26 a9 4SE4 -620 Mean: 4SE-1 100 110 3
v AK9852 3HN5200 390 4HN5 450 2.0 10 v J73 4SE5-650 -490 A 00 6
o JT Dif: 250 NS:2 4HN4 420 1.0 1 ¢ K983 Dif: 30 NS:-4 4SE5 650 -40 4
» K865 IMP: 6 EW:5 A 00 6 » AJBB3 IMP: 1 EW:4 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 JT7 N ~~~~~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 aT 4SE4 -420 Mean: 6NE-6 300 100 1 ||# 28 a8 3NE-1 50 Mean: 4HW-3 150 50 3
v Q7 5HWS5 -450 -190  6HW-1 50 60 6 v AJ874 3DN-1-100 -50  3NXW-1 100 40 1
* T987432 Dif: 30 NS:-6 3HE4 470 1.0 1 ¢ QT975 Dif: 150 NS:3  3NW-2 100 40 1
& AT7 IMP: 1 EW:6 A 00 6 & 97 IMP: 4 EW:2 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 + KQ 4SE5 450 60 1 ||e AK ¢ 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
* eV AN ,QJ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ 5 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 4 643 2CS4 130 Mean: 3NS3 600 11.0 2 ||# 30 473 3NW-3 150 Mean: 3NW-3 150 50 1
v T7 3NS3 600 100 2NS3 150 2.0 1 v 74 2HE3 -140 40  3NE-3 150 50 1
* Q92 Dif: -470 NS:1  2Cs4 130 1.0 1 ¢ A732 Dif: 290 NS:5 3CW-3 150 50 1
& AKJT6 IMP: -10 EW:-11 A 00 6 & QJ732 IMP: 7 EW:3 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT & Q984 3NE-2 100 40 1
v A8653 v 942 3Cs3 110 00 4 |[|v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2cs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2




X AY 3z }\ —_ 3
3 111&#F<F >RBpERE ==> R 3
AYA
#1: 9 BEA(54.15) #2: 1 %‘%(41 04) #3 8 A Ju\%ﬁ T7(38.42)
1 O NS: &E¥CF BR#EF(GHO) -29 1 1 NS: {28 S4#F(BAC) 38 P:| 0.00 : 20.00| Total VP: 0.00 Rank:
EW: BESn35 BETfEAC) -38 EW: [t EFE(BO) 29 IMP:| 6 64 22
- e —————
# 21 a8 3NE5 -460 Mean: 4HW-2 100 9.0 1 [[|# 22 s JT97 2HW-1 100 Mean: 2HXE-2 500 9.0 1
v JT63 2CE-150 -270 5CE-1 50 80 2 v38 2HE-1100 110  2HXE-1 200 3.0 1
¢ 8532 Dif: -510 NS:-5 2CE-1 50 80 1 ¢ J842 Dif: 0 NS:0 2NS3 150 1.0 1
& AB75 IMP: -11 EW:-8 3HWS3 140 40 1 & AK87 IMP: 0 EW:0 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 -6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 2SS-2 -200 Mean: 3CXE-1 200 30 1 ||# 24 » J6 3SW4 -170 Mean: 4SW-1 50 40 1
v AKQ92 2HN4 170 100  2SW-2 200 30 1 v Q52 2SW-150 -110  3NE-1 50 40 1
¢ 543 Dif: -370 NS:-7 3HN4 170 2.0 1 ¢ A93 Dif: -220 NS:-2 2SW-1 50 40 1
& A6 IMP: -9 EW:2 2HN4 170 2.0 1 & QJ862 IMP: -6 EW:-4 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
85 + v T64 INN3 150 20 2 ||e K76 v AJTO 28W2 10 00 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~3 32 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 43 3HN3 140 Mean: 4HXN4 500 50 1 ||# 26 a9 4SE5 -650 Mean: 4SE-1 100 110 3
v AK9852 4HN4 420 390  4HN5 450 2.0 10 v J73 4SE-1100 -490 A 00 6
o JT Dif: -280 NS:-6 4HN4 420 1.0 1 ¢ K983 Dif: -750 NS:-4 4SE5 650 -40 4
» K865 IMP: -7 EW:-1 A 00 6 » AJBB3 IMP: -13 EW:-11 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 «JT7 N ~~~~ ~ v KT8
S ~25~1 ¢K5432 S ~~~~~ o T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 aT 6HW-1 50 Mean: 6NE-6 300 100 1 ||# 28 a8 3NE5 -460 Mean: 4HW-3 150 50 3
v Q7 3HE4 -170 -190  6HW-1 50 60 6 v AJ874 3NW-2 100 -50  3NXW-1 100 40 1
* T987432 Dif: 220 NS:6 3HE4 470 1.0 1 ¢ QT975 Dif: -560 NS:-9 3NW-2 100 40 1
& AT7 IMP: 6 EW:-1 A 00 6 & 97 IMP: -11 EW:-4 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 * KQ 4SE5 450 60 1 ||e AK ¢ 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
* eV AN ,QJ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ 5 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 4 643 3CS3 110 Mean: 3NS3 600 11.0 2 ||# 30 473 2HE2 -110 Mean: 3NW-3 150 50 1
v T7 2NS3150 100  2NS3 150 2.0 1 v 74 3CW-3150 -40  3NE-3 150 50 1
* Q92 Dif: -40 NS:0 2CS4 130 1.0 1 ¢ A732 Dif: -260 NS:-2 3CW-3 150 50 1
& AKJT6 IMP: -1 EW:2 A 00 6 & QJ732 IMP: -6 EW:-5 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT & Q984 3NE-2 100 40 1
v A8653 v 942 3Cs3 110 00 4 |[|v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2cs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4 AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2




X AY 3z }\ —_ 3
3 111&#F<F >RBpERE ==> R 3
AYA
#1: 9 BEA(54.15) #2: 1 %‘%(41 04) #3 8 A Ju\%ﬁ T7(38.42)
1 1 NS: H{&E& S4FEC) 38 10 NS: Z#UE EREE5E(FH0) -21 P:| 20.00 : 0.00 Total VP: 29.85 Rank:
EW: Bt R EI0) 29 EW: [R5 EETf®(BAC) -3 IMP:| 64 6 15
— e —————
# 21 a8 3NE5 460 Mean: 4HW-2 100 9.0 1 [[|# 22 s JT97 2HW-1 -100 Mean: 2HXE-2 500 9.0 1
v JT63 2CE-1-50 -270 5CE-1 50 80 2 v38 2HE-1-100 110  2HXE-1 200 3.0 1
¢ 8532 Dif: 510 NS:8 2CE-1 50 80 1 ¢ J842 Dif: 0 NS:0 2NS3 150 1.0 1
& AB75 IMP: 11 EW:5 3HW3 140 40 1 & AK87 IMP: 0 EW:0 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 -6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 2SS-2 200 Mean: 3CXE-1 200 30 1 ||# 24 » J6 3SW4 170 Mean: 4SW-1 50 40 1
v AKQ92 2HN4 -170 100  2SW-2 200 30 1 v Q52 2SW-1-50 -110  3NE-1 50 40 1
¢ 543 Dif: 370 NS:2 3HN4 170 2.0 1 ¢ A93 Dif: 220 NS:4 2SW-1 50 40 1
& A6 IMP: 9 EW:7 2HN4 170 2.0 1 & QJ862 IMP: 6 EW:2 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
85 + v T64 INN3 150 20 2 ||e K76 v AJTO 28W2 10 00 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~3 32 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 43 3HN3 -140 Mean: 4HXN4 500 50 1 ||# 26 a9 4SE5 650 Mean: 4SE-1 100 110 3
v AK9852 4HN4 -420 390  4HN5 450 2.0 10 v J73 4SE-1-100 -490 A 00 6
o JT Dif: 280 NS:1  4HN4 420 1.0 1 ¢ K983 Dif: 750 NS:11 4SE5 650 -40 4
» K865 IMP: 7 EW:6 A 00 6 » AJBB3 IMP: 13 EW:4 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 «JT7 N ~~~~ ~ v KT8
S ~25~1 ¢K5432 S ~~~~~ o T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 aT 6HW-1 -50 Mean: 6NE-6 300 100 1 ||# 28 a8 3NE5 460 Mean: 4HW-3 150 50 3
v Q7 3HE4 170 -190  6HW-1 50 60 6 v AJ874 3NW-2-100 -50  3NXW-1 100 40 1
* T987432 Dif: -220 Ns:1 3HE4 470 1.0 1 ¢ QT975 Dif: 560 NS:4 3NW-2 100 40 1
& AT7 IMP: -6 EW:-6 A 00 6 & 97 IMP: 11 EW:9 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 * KQ 4SE5 450 60 1 ||e AK ¢ 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
* eV AN ,QJ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ 5 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 4 643 3CS3-110 Mean: 3NS3 600 11.0 2 ||# 30 473 2HE2 110 Mean: 3NW-3 150 50 1
v T7 2NS3 -150 100  2NS3 150 2.0 1 v 74 3CW-3 150 -40  3NE-3 150 50 1
* Q92 Dif: 40 NS:2 2Cs4 130 1.0 1 ¢ A732 Dif: 260 NS:5 3CW-3 150 50 1
& AKJT6 IMP:1 EW:0 A 00 6 & QJ732 IMP: 6 EW:2 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT & Q984 3NE-2 100 40 1
v A8653 v 942 3Cs3 110 00 4 |[|v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2cs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4 AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2




X AY 3z }\ —_ 3
3 111&#F<F >RBpERE ==> R 3
AYA
#1: 9 BEA(54.15) #2: 1 %‘%(41 04) #3 8 A M%jj T7(38.42)
1 2 NS: EiFfE TTRINEIC) 3 6 NS: (8% Ei2R(FH0) 4 P:| 1218 : 7.82 Total VP: 27.05 Rank:
EW: &% 5 BEFZEEI0) 4 EW: FREEE Hel3Z(BAC) -3 IMP:| 24 18 17
I A
# 21 a8 3NW4 430 Mean: 4HW-2 100 9.0 1 [[|# 22 s JT97 2HE-1 -100 Mean: 2HXE-2 500 9.0 1
v JT63 4HW-2 -100 -270 5CE-1 50 80 2 v38 2HE-1-100 110  2HXE-1 200 3.0 1
¢ 8532 Dif: 530 NS:9 2CE-1 50 80 1 ¢ J842 Dif: 0 NS:0 2NS3 150 1.0 1
& AB75 IMP: 11 EW:4 3HW3 140 40 1 & AK87 IMP: 0 EW:0 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 -6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 1NN4 -180 Mean: 3CXE-1 200 30 1 ||# 24 » J6 1NE3 150 Mean: 4SW-1 50 40 1
v AKQ92 3CE3110 100  2SwW-2 200 30 1 v Q52 1NE4 180 -110  3NE-1 50 40 1
¢ 543 Dif: -290 NS:-5 3HN4 170 2.0 1 ¢ A93 Dif: -30 NS:-2 2SW-1 50 40 1
& A6 IMP: -7 EW:2 2HN4 170 2.0 1 & QJ862 IMP: -1 EW:1 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
85 + v T64 INN3 150 20 2 ||e K76 v AJTO 28W2 10 00 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~3 32 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 43 4HN5 -450 Mean: 4HXN4 500 50 1 ||# 26 a9 4SE4 620 Mean: 4SE-1 100 110 3
v AK9852 4HN5 -450 390  4HN5 450 2.0 10 v J73 4SE4 620 -490 A 00 6
o JT Dif: 0 NS:2 4HN4 420 1.0 1 ¢ K983 Dif: 0 NS:-4 4SE5 650 -40 4
» K865 IMP: 0 EW:2 A 00 6 » AJBB3 IMP: 0 EW:4 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 JT7 N ~~~~~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 aT 5SE5 450 Mean: 6NE-6 300 100 1 ||# 28 a8 3NE-2 -100 Mean: 4HW-3 150 50 3
v Q7 6HW-1-50 -190  6HW-1 50 60 6 v AJ874 4HW-3 -150 -50  3NXW-1 100 40 1
* T987432 Dif: 500 NS:6 3HE4 470 1.0 1 ¢ QT975 Dif: 50 NS:5 3NW-2 100 40 1
& AT7 IMP: 11 EW:6 A 00 6 & 97 IMP: 2 EW:-4 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 * KQ 4SE5 450 60 1 ||e AK ¢ 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
* eV AN ,QJ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ 5 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 4 643 2CS3 110 Mean: 3NS3 600 11.0 2 ||# 30 473 3NW-1 -50 Mean: 3NW-3 150 50 1
v T7 3CS3-110 100  2NS3 150 2.0 1 v 74 3NE3 400 -40  3NE-3 150 50 1
* Q92 Dif: 0 NS:0 2Cs4 130 1.0 1 ¢ A732 Dif: -450 NS:-8 3CW-3 150 50 1
& AKJT6 IMP: 0 EW:0 A 00 6 & QJ732 IMP: -10 EW:-3 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT & Q984 3NE-2 100 40 1
v A8653 v 942 3Cs3 110 00 4 |[|v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2cs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4 AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQJ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2




X AY 3z }\ —_ 3
3 111&#F<F >RBpERE ==> R 3
AYA
#1: 9 BEA(54.15) #2: 1 %‘%(41 04) #3 8 A Ju\%ﬁ T7(38.42)
1 3 NS: #BIFE BEMan(EAC) -6 1 NS: E}8 RBRFR(BAO) -5 P:| 10.00 : 10.00| Total VP: 34.69 Rank:
EW: S B REFHO) 5 EW: 81818 REMH(EAC) 6 IMP:| 17 17 5
— I A
# 21 a8 5CE-1-50 Mean: 4HW-2 100 9.0 1 [[|# 22 s JT97 2HE-1 -100 Mean: 2HXE-2 500 9.0 1
v JT63 3NW4 430 -270 5CE-1 50 80 2 v38 2HW-1-100 110  2HXE-1 200 3.0 1
¢ 8532 Dif: -480 NS:-4 2CE-1 50 80 1 ¢ J842 Dif: 0 NS:0 2NS3 150 1.0 1
& AB75 IMP: -10 EW:-8 3HWS3 140 40 1 & AK87 IMP: 0 EW:0 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 -6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ *» 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 3CXE-1-200 Mean: 3CXE-1 200 30 1 ||# 24 » J6 4SW-1-50 Mean: 4SW-1 50 40 1
v AKQ92 1NN3 -150 100  2SW-2 200 30 1 v Q52 3SW4 170 -110  3NE-1 50 40 1
¢ 543 Dif: -50 NS:2 3HN4 170 2.0 1 ¢ A93 Dif: -220 NS:-2 2SW-1 50 40 1
& A6 IMP: -2 EW:-3 2HN4 170 2.0 1 & QJ862 IMP: -6 EW:-4 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
85 + v T64 INN3 150 20 2 ||e K76 v AJTO 28W2 10 00 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 COP: 2.4 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~3 32 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 43 3HN5 -200 Mean: 4HXN4 500 50 1 ||# 26 a9 4SE5 650 Mean: 4SE-1 100 110 3
v AK9852 4HN5 -450 390  4HN5 450 2.0 10 v J73 4SE4 620 -490 A 00 6
o JT Dif: 250 NS:2 4HN4 420 1.0 1 ¢ K983 Dif: 30 NS:-4 4SE5 650 -40 4
» K865 IMP: 6 EW:5 A 00 6 » AJBB3 IMP: 1 EW:4 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 «JT7 N ~~~~ ~ v KT8
S ~25~1 ¢K5432 S ~~~~~ o T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 aT 4SE4 420 Mean: 6NE-6 300 100 1 ||# 28 a8 3NE3 400 Mean: 4HW-3 150 50 3
v Q7 4HW5 450 -190  6HW-1 50 60 6 v AJ874 4SW-1-50 -50  3NXW-1 100 40 1
* T987432 Dif: -30 NS:-6 3HE4 470 1.0 1 ¢ QT975 Dif: 450 NS:3 3NW-2 100 40 1
& AT7 IMP: -1 EW:6 A 00 6 & 97 IMP: 10 EW:8 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 * KQ 4SE5 450 60 1 ||e AK ¢ 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
* eV AN ,QJ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ 5 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 4 643 3CS3-110 Mean: 3NS3 600 11.0 2 ||# 30 473 2CW-1-50 Mean: 3NW-3 150 50 1
v T7 3HW-1-100 100  2NS3 150 2.0 1 v 74 3CW-1-50 -40  3NE-3 150 50 1
* Q92 Dif: 10 NS:0 2CS4 130 1.0 1 ¢ A732 Dif: 0 NS:3 3CW-3 150 50 1
& AKJT6 IMP: 0 EW:0 A 00 6 & QJ732 IMP: 0 EW:-3 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT & Q984 3NE-2 100 40 1
v A8653 v 942 3Cs3 110 00 4 |[|v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2cs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4 AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQJ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2




X AY 3z }\ —_ 3
3 111&#F<F >RBpERE ==> R 3
AYA
#1: 9 BEA(54.15) #2: 1 %‘%(41 04) #3 8 A Ju\%ﬁ T7(38.42)
1 4 NS: #iRE EFZ2EAC) 20 5 NS: BB REF(F0) 12 P:| 13.14 : 6.86 Total VP: 23.85 Rank:
EW: BE%E FEREEI0) -12 EW: FEE fE5=h(BAC) -2 IMP:| 28 19 20
I A
# 21 a8 4HW4 420 Mean: 4HW-2 100 9.0 1 [[|# 22 s JT97 2HXE-1 -200 Mean: 2HXE-2 500 9.0 1
v JT63 5CE-1-50 -270 5CE-1 50 80 2 v38 2HXE-2 -500 110  2HXE-1 200 3.0 1
¢ 8532 Dif: 470 NS:8 2CE-1 50 80 1 ¢ J842 Dif: 300 NS:9 2NS3 150 1.0 1
& AB75 IMP: 10 EW:4 3HW3 140 40 1 & AK87 IMP: 7 EW:-3 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 -6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 3HN4 -170 Mean: 3CXE-1 200 30 1 ||# 24 » J6 1NE1 90 Mean: 4SW-1 50 40 1
v AKQ92 3HN3 -140 100  2SW-2 200 30 1 v Q52 1NE2 120 -110  3NE-1 50 40 1
¢ 543 Dif: -30 NS:1  3HN4 170 2.0 1 ¢ A93 Dif: -30 NS:0 2SW-1 50 40 1
& A6 IMP: -1 EW:-2 2HN4 170 2.0 1 & QJ862 IMP: -1 EW:-1  1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
85 + v T64 INN3 150 20 2 ||e K76 v AJTO 28W2 10 00 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~3 32 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 43 4HN5 -450 Mean: 4HXN4 500 50 1 ||# 26 a9 4SE-1 -100 Mean: 4SE-1 100 110 3
v AK9852 4HN5 -450 390  4HN5 450 2.0 10 v J73 4SE4 620 -490 A 00 6
o JT Dif: 0 NS:2 4HN4 420 1.0 1 ¢ K983 Dif: -720 NS:-4 4SE5 650 -40 4
» K865 IMP: 0 EW:2 A 00 6 » AJBB3 IMP: -12 EW:-11 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 «JT7 N ~~~~ ~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 »Q9542
W o~ ~~2~ ~~242
# 27 aT 4HWS5 450 Mean: 6NE-6 300 100 1 ||# 28 a8 3NXW-1-100 Mean: 4HW-3 150 50 3
v Q7 6HW-1-50 -190  6HW-1 50 60 6 v AJ874 1SW180 -50  3NXW-1 100 40 1
* T987432 Dif: 500 NS:6 3HE4 470 1.0 1 ¢ QT975 Dif: -180 NS:-1  3NW-2 100 40 1
& AT7 IMP: 11 EW:6 A 00 6 & 97 IMP: -5 EW:-4 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 * KQ 4SE5 450 60 1 ||e AK ¢ 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
* eV AN ,QJ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ 5 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 4 643 3NS-1 100 Mean: 3NS3 600 11.0 2 ||# 30 473 3NE-2 -100 Mean: 3NW-3 150 50 1
v T7 3NS-1100 100  2NS3 150 2.0 1 v 74 3NW-2-100 -40  3NE-3 150 50 1
* Q92 Dif: 0 NS:-5 2CS4 130 1.0 1 ¢ A732 Dif: 0 NS:4 3CW-3 150 50 1
& AKJT6 IMP: 0 EW:5 A 00 6 & QJ732 IMP: 0 EW:-4 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT & Q984 3NE-2 100 40 1
v A8653 v 942 3Cs3 110 00 4 |[|v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2cs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4 AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2




X AY 3z }\ —_ 3
3 111&#F<F >RBpERE ==> R 3
AYA
#1: 9 BEA(54.15) #2: 1 %‘%(41 04) #3 8 A Ju\%ﬁ T7(38.42)
1 5 NS: & E MEEEIC) -12 4 NS: BREf haFi(F0) -30 P:| 15.05 : 4.95 | Total VP: 32.39 Rank:
EW: S8 ZERZEF0) 30 EW: [R¥ % BRZ50\(BAC) 12 IMP:| 17 6
I A
# 21 a8 3NW4 430 Mean: 4HW-2 100 9.0 1 [[|# 22 s JT97 2HE-1 -100 Mean: 2HXE-2 500 9.0 1
v JT63 3NW4 430 -270 5CE-1 50 80 2 v38 3CS3-110 110  2HXE-1 200 3.0 1
¢ 8532 Dif: 0 NS:-4 2CE-1 50 80 1 ¢ J842 Dif: 10 NS:0 2NS3 150 1.0 1
& AB75 IMP: 0 EW:4 3HW3 140 40 1 & AK87 IMP: 0 EW:0 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 -6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 3CW3 110 Mean: 3CXE-1 200 30 1 ||# 24 » J6 3SW3 140 Mean: 4SW-1 50 40 1
v AKQ92 2HN3 -140 100  2SW-2 200 30 1 v Q52 3SW4 170 -110  3NE-1 50 40 1
¢ 543 Dif: 250 NS:1  3HN4 170 2.0 1 ¢ A93 Dif: -30 NS:-2 2SW-1 50 40 1
& A6 IMP: 6 EW:5 2HN4 170 2.0 1 & QJ862 IMP: -1 EW:1 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
85 + v T64 INN3 150 20 2 ||e K76 v AJTO 28W2 10 00 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~3 32 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 43 4HN5 -450 Mean: 4HXN4 500 50 1 ||# 26 a9 4SE4 620 Mean: 4SE-1 100 110 3
v AK9852 4HN5 -450 390  4HN5 450 2.0 10 v J73 4SE4 620 -490 A 00 6
o JT Dif: 0 NS:2 4HN4 420 1.0 1 ¢ K983 Dif: 0 NS:-4 4SE5 650 -40 4
» K865 IMP: 0 EW:2 A 00 6 » AJBB3 IMP: 0 EW:4 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 JT7 N ~~~~~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 aT 4SE5 450 Mean: 6NE-6 300 100 1 ||# 28 a8 3NS-2 200 Mean: 4HW-3 150 50 3
v Q7 4HW5 450 -190  6HW-1 50 60 6 v AJ874 2HN-2200 -50  3NXW-1 100 40 1
* T987432 Dif: 0 NS:-6 3HE4 470 1.0 1 ¢ QT975 Dif: 0 NS:-4 3NW-2 100 40 1
& AT7 IMP: 0 EW:6 A 00 6 & 97 IMP: 0 EW:4 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 * KQ 4SE5 450 60 1 ||e AK ¢ 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
* eV AN ,QJ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ 5 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 4 643 3HW-1 -100 Mean: 3NS3 600 11.0 2 ||# 30 473 3NE3 400 Mean: 3NW-3 150 50 1
v T7 3CS3-110 100  2NS3 150 2.0 1 v 74 3NE-3-150 -40  3NE-3 150 50 1
* Q92 Dif: 10 NS:0 2Cs4 130 1.0 1 ¢ A732 Dif: 550 NS:5 3CW-3 150 50 1
& AKJT6 IMP: 0 EW:0 A 00 6 & QJ732 IMP: 11 EW:8 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT & Q984 3NE-2 100 40 1
v A8653 v 942 3Cs3 110 00 4 |[|v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2cs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4 AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQJ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2




X AY 3z }\ —_ 3
3 111&#F<F >RBpERE ==> R 3
AYA
#1: 9 BEA(54.15) #2: 1 %‘%(41 04) #3 8 A Ju\%ﬁ T7(38.42)
1 6 NS: BR&#Z BB EAC) -16 9 NS: 1BE3Z S ET(BI0) 2 | P:| 495 : 15.05| Total VP: 35.72 Rank:
EW: SiBIE MREREEBFO) -2 EW: ZZHEB ZI3¥K(BAC) 1 IMP:| 14 30 4
- e —————
# 21 a8 3HW3 140 Mean: 4HW-2 100 9.0 1 [[|# 22 s JT97 3SN-1 50 Mean: 2HXE-2 500 9.0 1
v JT63 3NW4 430 -270 5CE-1 50 80 2 v38 2HE-1-100 110  2HXE-1 200 3.0 1
¢ 8532 Dif: -290 NS:-4 2CE-1 50 80 1 ¢ J842 Dif: 150 NS:0 2NS3 150 1.0 1
& AB75 IMP: -7 EW:-4 3HW3 140 40 1 & AK87 IMP: 4 EW:4 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 -6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 2HN3 -140 Mean: 3CXE-1 200 30 1 ||# 24 » J6 2SW2 110 Mean: 4SW-1 50 40 1
v AKQ92 2HN2 -110 100  2SW-2 200 30 1 v Q52 2NE5210 -110  3NE-1 50 40 1
¢ 543 Dif: -30 NS:0 3HN4 170 2.0 1 ¢ A93 Dif: -100 NS:-3 2SW-1 50 40 1
& A6 IMP: -1 EW:-1 2HN4 170 2.0 1 & QJ862 IMP: -3 EW:0 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
85 + v T64 INN3 150 20 2 ||e K76 v AJTO 28W2 10 00 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~332 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 43 4HN5 -450 Mean: 4HXN4 500 50 1 ||# 26 a9 4SE4 620 Mean: 4SE-1 100 110 3
v AK9852 3HN5-200 390  4HN5 450 2.0 10 v J73 4SE5650 -490 A 00 6
o JT Dif: -250 NS:-5 4HN4 420 1.0 1 ¢ K983 Dif: -30 NS:-4 4SE5 650 -40 4
» K865 IMP: -6 EW:2 A 00 6 » AJBB3 IMP: -1 EW:4 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 «JT7 N ~~~~~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 aT 4SE4 420 Mean: 6NE-6 300 100 1 ||# 28 a8 3NE-1-50 Mean: 4HW-3 150 50 3
v Q7 5HWS5 450 -190  6HW-1 50 60 6 v AJ874 3DN-1100 -50  3NXW-1 100 40 1
* T987432 Dif: -30 NS:-6 3HE4 470 1.0 1 ¢ QT975 Dif: -150 NS:-2 3NW-2 100 40 1
& AT7 IMP: -1 EW:6 A 00 6 & 97 IMP: -4 EW:-3 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 + KQ 4SE5 450 60 1 ||e AK + 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
eV AN oQ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ b 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 4 643 2CS4 130 Mean: 3NS3 600 11.0 2 ||# 30 473 3NW-3 -150 Mean: 3NW-3 150 50 1
v T7 3NS3-600 100  2NS3 150 2.0 1 v 74 2HE3 140 -40  3NE-3 150 50 1
* Q92 Dif: 470 NS:11 2CS4 130 1.0 1 ¢ A732 Dif: -290 NS:-3 3CW-3 150 50 1
& AKJT6 IMP: 10 EW:-1 A 00 6 & QJ732 IMP: -7 EW:-5 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT » Q984 3NE-2 100 40 1
v A8653 v 942 3CS3 110 00 4 ||v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2cs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2




-l AY I3z ;\ J— R3 3
3 111&#F<F >RBpERE ==>
AYA
#1: 9 BEA(54.15) #2: 1 %‘%(41 04) #3 8 A Ju\%ﬁ T7(38.42)
1 7 NS: (H0)0 18 NS: (FAC) 0 P:| 10.00 : 10.00| Total VP: 30.00 Rank:
EW: (BEC)0 EW: (Bd0)0 IMP:| 0 0 9
e —————
# 21 a8 Mean: 4HW-2 100 9.0 1 |[# 22 a JT97 Mean: 2HXE-2 500 9.0 1
v JT63 270 5CE-1 50 80 2 v38 110  2HXE-1 200 3.0 1
¢ 8532 Dif: NS:0 2CE-1 50 80 1 ¢ J842 Dif: NS:0 2NS3 150 1.0 1
& AB75 IMP: EW:0 3HW3 140 40 1 & AK87 IMP: EW:0 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 Mean: 3CXE-1 200 30 1 ||# 24 » J6 Mean: 4SW-1 50 40 1
v AKQ92 100  2SW-2 200 30 1 v Q52 110 3NE-1 50 40 1
¢ 543 Dif: NS:0 3HN4 170 2.0 1 ¢ A93 Dif: NS:0 2SW-1 50 40 1
& A6 IMP: EW:0 2HN4 170 2.0 1 & QJ862 IMP: EW:0 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
85 + v T64 INN3 150 20 2 ||e K76 v AJTO 28W2 10 00 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1 ||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~332 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 a3 Mean: 4HXN4 500 50 1 |[|# 26 a9 Mean: 4SE-1 100 110 3
v AK9852 390  4HN5 450 2.0 10 v J73 490 A 00 6
o JT Dif: NS:0 4HN4 420 1.0 1 ¢ K983 Dif: NS:0 4SE5 650 -40 4
» K865 IMP: EW:0 A 00 6 » AJBB3 IMP: EW:0 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 JT7 N ~~~~~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 'S Mean: 6NE-6 300 100 1 ||# 28 a8 Mean: 4HW-3 150 50 3
v Q7 190 6HW-1 50 60 6 v AJ874 50 3NXW-1 100 40 1
* T987432 Dif: NS:0 3HE4 470 1.0 1 ¢ QT975 Dif: NS:0 3NW-2 100 40 1
& AT7 IMP: EW:0 A 00 6 & 97 IMP: EW:0 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 + KQ 4SE5 450 60 1 ||e AK + 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
* eV AN ,QJ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ b 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 # 643 Mean: 3NS3 600 110 2 ||# 30 473 Mean: 3NW-3 150 50 1
v T7 100  2NS3 150 2.0 1 v 74 40  3NE-3 150 50 1
* Q92 Dif: NS:0 2Cs4 130 1.0 1 ¢ A732 Dif: NS:0 3CW-3 150 50 1
& AKJT6 IMP: EW:0 A 00 6 & QJ732 IMP: EW:0 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT » Q984 3NE-2 100 40 1
v A8653 v 942 3CS3 110 00 4 |[|v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2CSs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2
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1 8 NS: (BAC) 0 17 NS: (FiO) 0 P:[ 10.00 : 10.00 | Total VP: 30.00 Rank:
EW: (550)0 EW: (BiC) 0 IMP:| 0 0 9
e —————
# 21 a8 A Mean: 4HW-2 100 9.0 1 |[# 22 a JT97 A Mean: 2HXE-2 500 9.0 1
v JT63 A -270 5CE-1 50 80 2 v38 A 110  2HXE-1 200 3.0 1
¢ 8532 Dif: 0 NS:0 2CE-1 50 80 1 ¢ J842 Dif: 0 NS:0 2NS3 150 1.0 1
& AB75 IMP: 0 EW:0 3HW3 140 40 1 & AK87 IMP: 0 EW:0 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 -6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ *» 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 A Mean: 3CXE-1 200 30 1 ||# 24 » J6 A Mean: 4SW-1 50 40 1
v AKQ92 A 100 2SW-2 200 30 1 v Q52 A 110  3NE- 50 40 1
¢ 543 Dif: 0 NS:0 3HN4 170 2.0 1 ¢ A93 Dif: 0 NS:0 2SW-1 50 40 1
& A6 IMP: 0 EW:0 2HN4 170 2.0 1 & QJ862 IMP: 0 EW:0 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
85 + v T64 INN3 150 20 2 ||e K76 v AJTO 28W2 10 00 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~332 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 43 A Mean: 4HXN4 500 50 1 ||# 26 a9 A Mean: 4SE-1 100 110 3
v AK9852 A 390 4HN5 450 2.0 10 v J73 A -490 A 00 6
o JT Dif: 0 NS:0 4HN4 420 1.0 1 ¢ K983 Dif: 0 NS:0 4SE5 650 -40 4
» K865 IMP: 0 EW:0 A 00 6 » AJBB3 IMP: 0 EW:0 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 JT7 N ~~~~~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 'S A Mean: 6NE-6 300 100 1 ||# 28 a8 A Mean: 4HW-3 150 50 3
v Q7 A 190  BHW-1 50 60 6 v AJ874 A 50  3NXW-1 100 40 1
* T987432 Dif: 0 NS:0 3HE4 470 1.0 1 ¢ QT975 Dif: 0 NS:0 3NW-2 100 40 1
& AT7 IMP: 0 EW:0 A 00 6 & 97 IMP: 0 EW:0 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 + KQ 4SE5 450 60 1 ||e AK ¢ 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
* eV AN ,QJ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ 5 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 4 643 A Mean: 3NS3 600 110 2 ||# 30 473 A Mean: 3NW-3 150 50 1
v T7 A 100 2NS3 150 2.0 1 v 74 A 40  3NE-3 150 50 1
* Q92 Dif: 0 NS:0 2Cs4 130 1.0 1 ¢ A732 Dif: 0 NS:0 3CW-3 150 50 1
& AKJT6 IMP: 0 EW:0 A 00 6 & QJ732 IMP: 0 EW:0 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT » Q984 3NE-2 100 40 1
v A8653 v 942 3CS3 110 00 4 |[|v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2cs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2
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1 9 NS: (H0)0 20 NS: (FAC) 0 P:| 10.00 : 10.00| Total VP: 30.00 Rank:
EW: (BEC)0 EW: (Bd0)0 IMP:| 0 0 9
e —————
# 21 a8 Mean: 4HW-2 100 9.0 1 |[# 22 a JT97 Mean: 2HXE-2 500 9.0 1
v JT63 270 5CE-1 50 80 2 v38 110  2HXE-1 200 3.0 1
¢ 8532 Dif: NS:0 2CE-1 50 80 1 ¢ J842 Dif: NS:0 2NS3 150 1.0 1
& AB75 IMP: EW:0 3HW3 140 40 1 & AK87 IMP: EW:0 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 Mean: 3CXE-1 200 30 1 ||# 24 » J6 Mean: 4SW-1 50 40 1
v AKQ92 100  2SW-2 200 30 1 v Q52 110 3NE-1 50 40 1
¢ 543 Dif: NS:0 3HN4 170 2.0 1 ¢ A93 Dif: NS:0 2SW-1 50 40 1
& A6 IMP: EW:0 2HN4 170 2.0 1 & QJ862 IMP: EW:0 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
85 + v T64 INN3 150 20 2 ||e K76 v AJTO 28W2 10 00 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1 ||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~332 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 a3 Mean: 4HXN4 500 50 1 |[|# 26 a9 Mean: 4SE-1 100 110 3
v AK9852 390  4HN5 450 2.0 10 v J73 490 A 00 6
o JT Dif: NS:0 4HN4 420 1.0 1 ¢ K983 Dif: NS:0 4SE5 650 -40 4
» K865 IMP: EW:0 A 00 6 » AJBB3 IMP: EW:0 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 JT7 N ~~~~~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 'S Mean: 6NE-6 300 100 1 ||# 28 a8 Mean: 4HW-3 150 50 3
v Q7 190 6HW-1 50 60 6 v AJ874 50 3NXW-1 100 40 1
* T987432 Dif: NS:0 3HE4 470 1.0 1 ¢ QT975 Dif: NS:0 3NW-2 100 40 1
& AT7 IMP: EW:0 A 00 6 & 97 IMP: EW:0 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 + KQ 4SE5 450 60 1 ||e AK + 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
* eV AN ,QJ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ b 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 # 643 Mean: 3NS3 600 110 2 ||# 30 473 Mean: 3NW-3 150 50 1
v T7 100  2NS3 150 2.0 1 v 74 40  3NE-3 150 50 1
* Q92 Dif: NS:0 2Cs4 130 1.0 1 ¢ A732 Dif: NS:0 3CW-3 150 50 1
& AKJT6 IMP: EW:0 A 00 6 & QJ732 IMP: EW:0 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT » Q984 3NE-2 100 40 1
v A8653 v 942 3CS3 110 00 4 |[|v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2CSs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2
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#1: 9 BEA(54.15) #2: 1 %‘%(41 04) #3 8 A M%jj T7(38.42)
20 NS: (BAC) 0 19 NS: (FiO) 0 P:[ 10.00 : 10.00 | Total VP: 30.00 Rank:
EW: (550)0 EW: (BiC) 0 IMP:| 0 0 9
e —————
# 21 a8 A Mean: 4HW-2 100 9.0 1 |[# 22 a JT97 A Mean: 2HXE-2 500 9.0 1
v JT63 A -270 5CE-1 50 80 2 v38 A 110  2HXE-1 200 3.0 1
¢ 8532 Dif: 0 NS:0 2CE-1 50 80 1 ¢ J842 Dif: 0 NS:0 2NS3 150 1.0 1
& AB75 IMP: 0 EW:0 3HW3 140 40 1 & AK87 IMP: 0 EW:0 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 -6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 A Mean: 3CXE-1 200 30 1 ||# 24 » J6 A Mean: 4SW-1 50 40 1
v AKQ92 A 100 2SW-2 200 30 1 v Q52 A 110  3NE- 50 40 1
¢ 543 Dif: 0 NS:0 3HN4 170 2.0 1 ¢ A93 Dif: 0 NS:0 2SW-1 50 40 1
& A6 IMP: 0 EW:0 2HN4 170 2.0 1 & QJ862 IMP: 0 EW:0 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
v 85 + v T64 1NN3 150 2.0 2 ||e K76 v AJT9 25W2 4110 0.0 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~3 32 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 43 A Mean: 4HXN4 500 50 1 ||# 26 a9 A Mean: 4SE-1 100 110 3
v AK9852 A 390 4HN5 450 2.0 10 v J73 A -490 A 00 6
o JT Dif: 0 NS:0 4HN4 420 1.0 1 ¢ K983 Dif: 0 NS:0 4SE5 650 -40 4
» K865 IMP: 0 EW:0 A 00 6 » AJBB3 IMP: 0 EW:0 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 «JT7 N ~~~~ ~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 »Q9542
W o~ ~~2~ ~~242
# 27 aT A Mean: 6NE-6 300 100 1 ||# 28 a8 A Mean: 4HW-3 150 50 3
v Q7 A 190  6HW-1 50 60 6 v AJ874 A 50  3NXW-1 100 40 1
* T987432 Dif: 0 NS:0 3HE4 470 1.0 1 ¢ QT975 Dif: 0 NS:0 3NW-2 100 40 1
& AT7 IMP: 0 EW:0 A 00 6 & 97 IMP: 0 EW:0 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 * KQ 4SE5 450 60 1 ||e AK ¢ 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
* eV AN ,QJ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ 5 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 4 643 A Mean: 3NS3 600 110 2 ||# 30 473 A Mean: 3NW-3 150 50 1
v T7 A 100 2NS3 150 2.0 1 v 74 A 40  3NE-3 150 50 1
* Q92 Dif: 0 NS:0 2Cs4 130 1.0 1 ¢ A732 Dif: 0 NS:0 3CW-3 150 50 1
& AKJT6 IMP: 0 EW:0 A 00 6 & QJ732 IMP: 0 EW:0 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT & Q984 3NE-2 100 40 1
v A8653 v 942 3Cs3 110 00 4 |[|v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2cs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQJ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2
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2 1 NS: (H0)0 22 NS: (FAC) 0 P:| 10.00 : 10.00| Total VP: 30.00 Rank:
EW: (BEC)0 EW: (Bd0)0 IMP:| 0 0 9
e —————
# 21 a8 Mean: 4HW-2 100 9.0 1 |[# 22 a JT97 Mean: 2HXE-2 500 9.0 1
v JT63 270 5CE-1 50 80 2 v38 110  2HXE-1 200 3.0 1
¢ 8532 Dif: NS:0 2CE-1 50 80 1 ¢ J842 Dif: NS:0 2NS3 150 1.0 1
& AB75 IMP: EW:0 3HW3 140 40 1 & AK87 IMP: EW:0 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 Mean: 3CXE-1 200 30 1 ||# 24 » J6 Mean: 4SW-1 50 40 1
v AKQ92 100  2SW-2 200 30 1 v Q52 110 3NE-1 50 40 1
¢ 543 Dif: NS:0 3HN4 170 2.0 1 ¢ A93 Dif: NS:0 2SW-1 50 40 1
& A6 IMP: EW:0 2HN4 170 2.0 1 & QJ862 IMP: EW:0 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
v 85 + v T64 1NN3 150 2.0 2 ||e K76 v AJT9 25W2 4110 0.0 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~332 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 a3 Mean: 4HXN4 500 50 1 |[|# 26 a9 Mean: 4SE-1 100 110 3
v AK9852 390  4HN5 450 2.0 10 v J73 490 A 00 6
o JT Dif: NS:0 4HN4 420 1.0 1 ¢ K983 Dif: NS:0 4SE5 650 -40 4
» K865 IMP: EW:0 A 00 6 » AJBB3 IMP: EW:0 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 JT7 N ~~~~~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 'S Mean: 6NE-6 300 100 1 ||# 28 a8 Mean: 4HW-3 150 50 3
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